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CHAPTER
INTRODUCTION

The finite element method! is a technique for obtaining approximate solutions to boundary value problems. To
introduce the method, we present an elementary (some might say trivial) example of the deflection of a tightly
stretched wire under a distributed load. This example is sufficient to (1) refresh the reader on some aspects of
differential equations that will prove important for understanding approximate solutions, (2) introduce the con-
cept of approximate solutions, and (3) actually define and illustrate the finite element method. This particular
application was selected because the solution is easily visualized. However, any number of other applications
could have been used, such as one-dimensional problems in heat transfer, porous flow, or electrostatics. The
variables given here can be interpreted to correspond to one of these applications, and the reader is encouraged
to do so if that is helpful.

1.1 GOVERNING EQUATION AND AN EXACT SOLUTION

Consider a tightly stretched wire as shown in Fig. 1.1. Under the proper circumstances, the deflection of the
wire is accurately described by the solution of

2

d’y
TW + w(x) = 0.0 (1.1)

where

T = tension in the wire [F]

y = deflection of the wire [L]?
w = distributed load [F/L]

The bracketed terms are the dimensions of the variables, where F represents force and L represents length.

\ w(x)

Figure 1.1. Deflection of a tightly stretched
wire.

1To be abbreviated FEM throughout much of the text.

*Note that the symbol y represents a dependent variable and not a coordinate. Other symbols, such as u or v, could be used to eliminate
any possible confusion; however, we have chosen to use y which conforms to the usage in many texts on ordinary differential equations.
For two-dimensional problems in later chapters, y will indeed represent a coordinate.
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The proper circumstances mentioned above are that 7' should be large enough and y small enough to ensure
that 7' remains nearly constant during the deformation and that

2
(Q) <
dx

Before we obtain an exact solution, it is necessary to define a particular loading. The loading selected is one
that does not complicate the mathematics beyond that needed to fulfill the purposes stated above, and is shown
in Fig. 1.2.

The governing equation now becomes

dy

= (1.2)

d2y
T—7—3W=0 for 0=x=<12
dx
dzy (1.3)
T—Z—W=0 for LR =x=<1L
dx
with boundary conditions
y©0) =yL)=0 (1.4)
y
3w
X

L2 |
| |

Figure 1.2. Loading on wire.

The loading is defined at all points but is discontinuous at x = L/2. The governing equation tells us that we
should expect the same for the second derivative of y with respect to x. However, the first derivative must be
continuous at x = L/2; otherwise the second derivative would not be defined at this point.

There are several approaches available to arrive at the exact solution. The one chosen here is to obtain the
general solution for each of the two regions specified in Eq. 1.3, and require each one to have the same value
for deflection and the same value for slope at x = L/2.
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1.2 Approximations to the Exact Solution 3
The general solutions for the two segments are

¥(x) = ¥<2x2 +Cix+ Cz) for 0=x=<1/2
W /1 (1.5)
¥(x) = 7<§X2 + C3x + C4) for LR =x=<1L

The four constants of integration can be evaluated using the four conditions

(SRS

Evaluation of these constants gives us

WL* |3
yx) = T[E (%

25 (x
)—Z(zﬂ for 0 =x=1L1R2

wiz[1/xV¥ 1/x\ 1
)’(x)——T—[E(Z> —Z(Z)_Z} for L2 <=x=1L

(1.7)

which is the exact solution to our governing equation. The plot of this function is shown in Fig. 1.3 at the end
of the next section.

1.2 APPROXIMATIONS TO THE EXACT SOLUTION

We now consider how we would arrive at an approximate solution to our governing equation if the exact solution
were not obtainable. Almost all methods for doing so use an approximating function with a finite number of
degrees of freedom, such as

ﬂw=quJﬂM+Am+Mf+Mﬁ} (1.8)

or

. [(Tx . (2mx . {3mx
y(x) = Apsin (T>+ Aq sin (—L—>+ Aj sin (T) (1.9)
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Here the degrees of freedom (the number of undetermined parameters) equal 4 in Eq. 1.8 and 3 in Eq. 1.9.
Note that both approximations satisfy the boundary conditions independent of the parametric values. This is
an important requirement for selecting approximating functions. Also worth noting is that the approximations
can be made to converge to any continuous function by extending the series indicated. Such series are referred
to as being complete or having the property of completeness, a topic covered in the mathematics of infinite
series.

There are other series we could consider, including a finite element approximation. However, before we get
to that, it is instructive to illustrate some of the methods used to obtain values for the parameters in these series.
To do so, we will use the truncated polynomial series

y(x) = (x)(x ~ L)(Ag + Ay %) (1.10)

Note that the dimensions of Ay and A; must be [L™!] and [L™?], respectively. It is often best to write a series
in a way that makes the parameters nondimensional, or at least in a way that gives them the same dimensions.
However, to simplify the notation while retaining the physical dimensions of all quantities, the above form
was chosen.

The exact solution satisfies the differential equation for all values of x. However, there are no values of Ay
and A; that would make our approximation capable of satisfying our equation at all points. This is casily seen
by noting that the exact solution has a discontinuity in its second derivative, whereas all derivatives of our
approximating function are continuous. Because there are no values for our parameters that will give us the
exact solution, we must determine which values would be “best.” This would not be a difficult task if we knew
the exact solution. However, we are pretending not to know this, but only the differential equation that it must
satisfy. We need, therefore, some technique for determining the best values for the parameters based only on
the governing differential equation.

There are several ways to determine, or define, these “best” values, most of which are related to a func-
tion called the residual. This is the function obtained when the approximating function is substituted into the
governing equation. For our case, this function is

.
R(x, Ao, A1) = 2TAg + T(6x —2L)A; —3W for 0 < x < L2
(1.1YH)
R(x,Ap, A)) = 2TAg+ T(6x ~2L)A; — W for L2 =x <L
where we have indicated that the residual depends not only on x, but also on the values of the yet undetermined
parameters Ag and A;. If it were possible to select values for Ag and A such that the residual would be zero for
all values of x, then we would have the exact solution. However, as we have already noted, this is not possible.
Hence, a compromise must be made. We now consider several well-known compromises.

1.2.1 Collocation. If we cannot make R = 0 at all points between 0 and L, we will make it zero at as many
points as possible. Because we have only two undetermined parameters, we expect at most to be able to satisfy
the equation at two points. We choose x = L/4 and x = 3L/4 as logical choices, and obtain

(1.12)
5L w
240+ A = =

T

—t

[0 o B e =R 2

bt

TS e ol ™ ™~
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which gives us
4w
r

2w
3LT

(1.13)

Hence, our approximate solution by collocation is

3 2
-3l

Figure 1.3, at the end of this section, compares this solution with the exact solution as well as the other ap-
proximate solutions that follow. The error between it and the exact solution, is shown in Fig. 1.4. Note that the
maximum error is approximately 0.4%.

Two things are worth noting. First, the results are good because our approximation was good—a cubic that
was able to duplicate our exact solution very closely. That might not be true for a more complex loading. In
such a case, we would need to add more terms (parameters) in our approximating function. Second, our solution
matches the exact solution at x = L/4 and x = 3L/4 (not easily seen from the graph, but it does). This is not
because these points were the collocation points; rather, it is more of an accident peculiar to this particular
problem. In general this will not be the case. We satisfy the differential equation at collocation points, not the
solution.

1.2.2 Least Squares. Rather than making R(x, Ao, A1) = O at two points, we might want to minimize its
magnitude in some average sense along the entire length from 0 to L. One way of doing this is to minimize

L
J = f R%dx (1.15)
0

Clearly, J is greater than zero except for the case where R is everywhere zero, i.e., the exact solution. Therefore,
of all possible functions that satisfy our boundary conditions, the exact solution produces the lowest value of J.
We know, because our approximation does not contain the exact solution, that it cannot produce this minimum
value; thus, we settle for as low a value of J as it is able to produce. That is, we find values of Ag and A, that
give J a stationary value. Thus, we solve

aJ aJ
ﬂ—A; =0 and B_Al =0 (116)

for Ag and A;.
Rather than integrate and then differentiate, it is easier to differentiate and then integrate; therefore, we write

a [t , L__oR
07—Ai,[0 R?dx = JO 2R6—A—[dx =0 (1.17)

r




Equations 1.11 give us R, from which we obtain

JR

~— =27 <= x=<1L
7Aq 2 for 0 = x

R

—— = —2L =x=1L
A, T6x—2L) for 0 =< x

From this we obtain the following two equations:

aJ L2
= f [2T] (2T Ag + T(6x — 2L)A; — 3W] dx
0

0

L
+ j [2T] [2T Ao + T(6x — 2L)A, — W] dx = 0
L2

aJ

L2
= J [6T(6x — 2L)| [2T Ag + T(6x — 2L)A, + 3W) dx
1 0

L2

which gives, after integration and the solution of the resulting algebraic equations,

SW
Ao=ar
w

A= o7

Hence, our approximate solution found by the least squares method is

;- S 26726

L
+ f [6T(6x — 2L)| [2T Ag + T(6x — 2L)A; + W] dx = 0

INTRODUCTION

(1.18)

(1.19)

(1.20)

(1.21)

(1.22)

The solution is shown in Fig. 1.3 and its error in Fig. 1.4. It has a slightly higher maximum error than the

function found by collocation, but is still less than 1%.

1.2.3 Galerkin’s Method. Another method for reducing the residual over the entire length is to make its
weighted average zero with respect to as many independent weighting functions as there are undetermined

parameters. That is,

L
J W()R(x, Ao,A], ...,A,,)dx =0
0

L
J W]R(X,A(),Al, ...,A,,)dx =0
0

L
J W.R(x, A, Ay, ..., Ap)dx =0
0

(1.23)

N7 - Y

p— gt A g ey
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1.2 Approximations to the Exact Solution 7

The weighting functions must be independent in order for the resulting algebraic equations to be independent.
Galerkin’s method uses the independent terms of the approximating function as the weighting functions; thus,
there are always as many weighting functions as there are independent parameters. For our example, the
method gives us

L2
J {xz - Lx] [2T Ao + T(6x — 2L)A; + 3W] dx
0

L
+j [x2 - Lx] [2T A + T(6x — 2L)A; + W] dx = 0 (1.24)
L2

L2
J [x3 - sz] [2T A + T(6x — 2L)A; + 3W] dx
0

L
+J [x3 - Lx2][2TA0 + T(6x — 2L)A, + W] dx = 0 (1.25)
LR

Integration of these equations produces two algebraic equations in Ag and A, the solution of which gives

21W
A[) = —
161 (1.26)
5W
Av= L

Thus, the approximation solution by Galerkin’s method is

(o) [ -t

1.2.4 The Ritz Method. For our tight wire problem it is possible to write an expression for the total potential
energy of the system as a function of the deflection, y(x). We know from the principles of mechanics that this
scalar function attains a minimum value correspondmg to the equilibrium position of the wire. That is, if the
potentlal energy of the system is calculated using the exact solution of the governing differential equation, its
value will be lower than that calculated when any other deflected shape is used for the calculation. Thus, as
we did for the least squares method, we will judge the best values for A and A; as those that give the smallest
potential energy to the system, i.e., those values that produce a potential energy nearest to the potential energy
that the exact solution has.
The potential energy of the system is given by

L 2
_ 1, (dy _
E = IO |:§T<;1;) Wy:| dx AN e (128)
for any loading w = w(x) and any deflection y = y(x).> Similar expressions exist for other applications.

IThis can be shown using elementary mechanics. The first term in the integrand represents the potential energy of the distributed load,
and the second term in the integrand represents the increase in potential energy (strain energy) in the wire due to the deflection.
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We will shortly show that the minimization of such an expression is equivalent to satisfying the governing
differential equation.

When an approximating function is substituted into the above integral, E becomes a function of the unde-
termined parameters used for the function; thus, to obtain a stationary value, we enforce

JE a (Er_ .,
9A; ~ 3A; fo [im oy } “
L
_ J (1. .,
= Jo A {ET()}) wy} dx (1.29)
- fL ’TL(y,) - wM dx
o 17 0A; T A,

For our two-parameter approximating function,

y = (* = xL)Ag + (x* — ¥’L)A,
y' = (2x — L)Ag + (3x> — 2xL)A,

V) _

Ty (x* — xL)

a(y) 3 2

—= = (x" — x°L)

JdA] (1.30)
iy _ .,

TAO = (2)6 L)

%l) = (3x* — 2xL)

_[—3W for 0=x=1LR2
-W for LR =x=1L

Substitution of these functions into Eq. 1.29 creates, as with the previous methods, two linear algebraic equa-
tions for Ag and Aj. Solving, we find that the resulting values of our two parameters are identical to the ones
we obtained by Galerkin’s method. There is a reason for this, which will soon be explained. The plots of this
function and its error are the same as the plots for Galerkin’s method in Figs. 1.3 and 1.4.

For many of the boundary value problems associated with engineering analysis, there is a corresponding
scalar function such as we have used here. These scalar functions of functions* are referred to as Sfunctionals.
The procedures for determining the functional corresponding to a given differential equation, or vice versa,
are the subject of the calculus of variations. The principle that the solution of a given boundary value problem

“The function for £ was a function of the function y(x).
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Comparison of different solutions

0 T ! T T T T T T T
— Exact
----- Collocation
— - Galerkin
——- Least squares
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\ : '{’ :
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~ 4
S V4
RS il
-03 | | | l 1 1 | 1 I
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
x/L
Figure 1.3. Comparison of the approximate solutions to the exact solution. s

-

corresponds to a stationary value of a functional is referred to as avvarzatzonal principle. Finally, the concept of
using a variational principle to judge the quality of an approximaté solution is referred to as the Ritz method.
We will spend considerable time exploring these ideas because they represent the foundations of the finite
element method.

1.2.5 Results. In comparing the preceding methods, it is important not to place emphasis on which one has
the smallest error. The errors shown depend more on the particular problem and the approximating function
selected than on the method. All of the methods converge to the exact solution as the number of terms used
in the approximation increase, provided that the series is complete. The question of convergence is important
and will be discussed at the conclusion of this chapter.

For now, however, let us see how each of the methods fared. Figure 1.3 illustrates the deflection found for
each method (the Ritz method is the same as Galerkin’s). Figure 1.4 illustrates the difference between the
exact solution and the approximate solutions. Again, you should understand that the closeness of these approx-
imations to the exact solution is due to the fact that our approximating function, with only two independent
parameters, can be made very close to the piecewise parabola that is the exact solution. In general, many more
terms are necessary to obtain the accuracy needed in most engineering analyses.
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Figure 1.4. Difference between the exact solution and the approximate solutions along the wire.

1.3 FINITE ELEMENT APPROXIMATIONS

There is a very important difference between the Ritz method and the other three methods illustrated in the
previous section, and that difference allows us to introduce finite element approximations. Whereas the first
three methods required that the second derivative of the approximating function exist, the Ritz method required
only the existence of the first derivative. This weaker demand allows us to use piecewise linear functions as
our approximating function. Such approximations are the foundations of the finite element method, several of

which are illustrated in Fig. 1.5. You should note three characteristics of these functions, which we will discuss
in much more detail in later chapters:

1. The functions are continuous, although their first derivatives (slopes) are not.

2. Each function is completely defined by its nodal point values; hence, these values serve as the undeter-
mined parameters of the approximating function.

3. The segments, or elements, need not be of equal length.
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I 1
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¥o! 5

\ Node or nodal point

y(x) y(x)

Figure 1.5. Finite element approximations.

11

Let us now use one such function to approximate the deflection of our tight wire. We choose the particular

one illustrated in Fig. 1.6, given by

(3Y,/L)x for 0 =x=<1/3
y(x) =< QY3 — Y3) + 3/LYXY; — Ya)x for L3 =x =2L3
3Ys — (3Ys/L)x for 2L3 =x =1L

The energy functional,

L 2
E = J [—wy+0.5T<dl)]dx
0 dx

requires the use of the derivative of this function, which is

3Y,/L for 0 =x=1L1713
d—i ={ BIL)Ys - Y, for L3 = x =2Lj3
—3Y5/L for 2L13 =x<1L

(1.31)

(1.32)

(1.33)

Substitution of the function, its derivative, and the loading function into Eq. 1.32 gives us the potential

energy as a function of the deflections, Y and Y3, which we indicate by writing

E = E(Yy, Y3)

(1.34)
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Y,

L3

]
]
! l
! |
|
|
|
|
! I
s Iy
2 3

B

Figure 1.6. Finite element approximation to the deflection of
the tight wire.

The Ritz method states that the best approximation to the exact solution that these two parameters can give are
the two values that create the lowest value for E, that is, the value of E that is closest to the value obtained by
the exact solution. Thus, we seek the two nodal values that will satisfy

oE oFE
—_— = —— T 1-
av, and oA 0 (1.35)

As before, it would be easier to differentiate and then integrate, but this time we choose to integrate first and
obtain the potential energy in terms of our two nodal values for displacement. This approach emphasizes that
the potential energy is a quadratic function of the displacements; hence, it has one, and only one, stationary
value.

A significant consequence of piecewise approximations is that the integration can be performed element by
element and summed to obtain the total integral. This is the approach we now use.

The contribution to E from element A is

3 3y 2
Eq = —J [-3W[(3Y2/L)x]} dx+j [ETBYZ/L] ]dx (1.36)
0 0
_[wL 377,
- [ e 51 -

The contribution to E from element B is

L2
Ep = _J [—3W[(2Y2 ~ Y3+ G/L)(Ys - Yz)x]] dx
L3

2173
- [ [—W[(zy2 ~ Y3) + GB/L)(Y3 — Yz)x]} dx
L2

2L/3 1 2
+J {—T[(S/L)(Yg 2 0) }dx (1.38)
L3 2
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SWL 3WL r 5
B = 7y 1o g s+ (5|

The contribution to E from element C is
L3

L
Ec = —j [—W[3Y3 - (3Y3/L)x]} dx +J

[1T[—3Y3/L]2] dx
2103 0o L2

WL 3T

The total energy is
E =E,+Eg+E¢
_[nwL SWL 3T \(a 2
E = [T}Yz + [—1—2—}1@ + (T><Y2 Y2Ys + ¥3)

which is a quadratic function of Y, and Y3. It thus has a single, stationary value where

oE

a—Yz‘ = 00
and

oE

m = 0.0

Thus, we obtain

or, in matrix notation,

6T —3T v WL
L L 2 12

-3\ (6T o] s
L L 3 12

13

(1.39)

(1.40)

(1.41)

(1.42)

(1.43)

(1.44)

(1.45)

(1.46)

(1.47)



14

The solution is

wL?
AT

_TWL?
367
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(1.48)

This solution is shown in Fig. 1.7. The nodal point values in this case turn out to coincide with the exact
solution. However, this will not happen under different circumstances (i.e., a different governing equation).’

2-DOF FEM Solution
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Figure 1.7. Finite element solution.

SThe deflection of a tightly stretched wire under the action of concentrated loads is made up of piecewise linear functions, the same
as our finite element approximation. Hence, our finite element approximations can be made to correspond to the exact solution sim-
ply by placing nodes at each point where there is a concentrated load. Furthermore, it can be shown that the exact solution for the
deflection of a wire at any two points is the same for all statically equivalent loadings between these two points. These two facts are
the reason for the remarkable results here. Proof of the latter of the two statements is an interesting exercise for students of applied

mechanics.
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1.4 Basis Functions 15

You have probably noted that this solution does not compare well with those found by our two-term poly-
nomial approximation. However, as more terms are added, the polynomial and trigonometric approximations
become ever more difficult to evaluate, whereas the finite element solution simply repeats the same calcula-
tions, over and over, for each element. This advantage becomes pronounced for partial differential equations
with irregular boundaries and nonconstant parameters.

1.4 BASIS FUNCTIONS
We have referred to our approximating functions as series. This is, of course, obvious for the polynomial
and trigonometric approximations; however, finite element approximations do not, at first glance, appear to

be a truncated series. Nevertheless, in much of the literature associated with the finite element method the
approximation is treated as a series and written in the form

¥x) = > MY (1.49)

When this is done, the functions M;(x) are called basis functions, with one such function associated with each
node. A set of these functions for a four-node approximation is shown in Fig. 1.8.

o--
!

o
X
5

-0

2 3

Figure 1.8. Basis functions for a four-
node approximation.

Note that the magnitude of each function at its respective node is unity and that it is zero at all other nodes.
Hence, their sum would have a value of unity at each node, and the function would simply be the straight line
v = 1.0.If each basis function is multiplied by a constant A;, then the sum of these new functions would be a
piecewise linear function having a value at each node equal to the corresponding value of A; for that node. As
an example, if
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then
¥(x) = > AiMi(x) (1.50)

is the function shown in Fig. 1.9.

4.0
3.0

QO
N -10

Figure 1.9. > M;Y; for {Y} = {0,4,3, —1}.

1.5 WEAK FORMULATION OF PROBLEM

As we have seen, the use of a piecewise linear approximation depends on being able to express our problem
in terms of the potential energy functional, Eq. 1.28. We also saw that for our polynomial approximation, the
Ritz method produced the same results as Galerkin’s method, and we noted that this was no accident. We now
show how to obtain the integral formulation from the differential equation—that is, how to obtain the weaker
formulation that requires only the existence of the first derivative from the stronger formulation that requires
the existence of the second derivative. Both formulations are valid, and the solution to one is the solution to
the other. Note specifically that what follows is not directly related to approximation theory, although we will
certainly use the results for that purpose. That is, the original differential equation for our tight wire problem
and the expression for the potential energy of the wire are physical statements of the physics of the problem
and have no direct correlation with approximation theory.
Consider the original differential equation for the deflection of the tight wire,

2

d’y
TW +wx) =0 (1.51)

Because this equation must be satisfied at all points (i.e., must be zero at all points),

d2y
B(x) [TW + w(x)} =0 (1.52)

must also be satisfied (i.e., equal to zero) for any function B(x). If so, then its integral must likewise equal
Zero,

L 2
f B(x) [T‘—i% + w(x)] dx =0 (1.53)
0 dx

= =

b
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Interpret this equation as a test that the trial function, y(x), must pass for all permissible test functions, B(x),
if it is the exact solution.

We now assume that the test functions, B(x), are sufficiently well behaved that the integrand remains inte-
grable. Thus, we integrate by parts to obtain

Lra dy\ dB_dy
L [% (BTﬂ) ETE + Bw] dx =0 (1.54)
BTd_y]L_fL Brdy _py)ax=o0 (155)
dx |, Jo \dx dx ‘

The integrated first term, in later problems, will allow us to specify boundary conditions other than what
we have. For now, however, we assume the original boundary conditions of our tight wire problem, i.e., y(x)
known at both x = 0 and x = L, and let Eq. 1.55 apply only to functions that meet these conditions. This
being the case, there is no need to test y(x) at these points, and we restrict our test functions to those that are
zero at x = 0 and x = L. Thus, for our specific problem,

L
f dBrdy _ g Vax = 0.0 (1.56)
o \dx dx

Note that Eq. 1.56 applies to the y(x) that satisfies our boundary conditions at x = 0 and x = L, whether y(x)
is specified as zero or some other value at these points. On the other hand, the test functions B(x) must be
zero at these points; otherwise we would have to include the first term in Eq. 1.55, which requires the value of
dyl/dx. This we ordinarily do not know when y is known. More on this point in the next chapter.

We now have two ways of defining our problem:

1. The deflection of the tight wire, y(x), must satisfy the specified boundary conditionsat x = Qand x = L,
and

dzy
T— +wkx)=0
e (x)

at every point 0 < x < L.

2. The deflection of the tight wire, y(x), must satisfy the specified boundary conditionsat x = Oand x = L,
and

LidB_dy

for all test functions B(x) for which B(0) = B(L) = 0.

The first formulation places stronger demands on the smoothness of the function than does the second formu-
lation; hence, the designations strong form and weak form are used for the first and second forms, respectively.
It will be this second formulation, i.e., the weak formulation, that will be the starting point of all our finite
element formulations.




18 INTRODUCTION

In order to see the equivalence of the above weak form to the potential energy functional used for the Ritz
method, we must go back to that formulation, but this time differentiate and then integrate our equation.

0E o (L1 /ay}

“lr 0 (dy\(dy Iy (1.57)
|1 () @)+ )
_ (4 (9y\.(dy 9\ 4 =

Comparison of this final form of the Ritz method with Eq. 1.56 shows that they are identical if we use as our
test functions

dy
B =2
dA;

Likewise, comparison of Galerkin’s formulation (Eqgs. 1.23) with Eq. 1.53 shows that they are identical if we,
again, use as our test functions

ay
B= -
dA;
Therefore, both Galerkin’s method and the Ritz method simply represent use of the weak form of our problem
to evaluate the undetermined parameters of an approximate solution.

1.6 SOME CONCLUDING REMARKS

We have assumed that our approximating functions are complete—that as we add more terms, the series can
be made as close to the exact solution as we desire. We accepted that the polynomial and trigonometric series
are complete. By the very nature of our finite element approximation, it is complete. However, even if we are
confident that our approximating function can be made close to the exact solution, how do we know that the
methods we have used to determine the parametric value actually force the approximation to be close to the
exact solution? In general, this is a difficult question to answer and is best left to texts on that subject. However,
it is worthwhile to develop an intuitive feel for why these methods work. A basic characteristic of all four of
the methods is that they create a set of linear algebraic equations for the undetermined parameters. This will
be true whenever these methods are used to approximate solutions of linear differential equations. Thus, in
what follows, keep in mind that each method can produce only one set of values. Let us now review the four
methods we introduced in this chapter.

Collocation. Of the methods presented, collocation is perhaps the most believable. As we increase the number
of terms in our approximating function, we are able to increase the number of points at which the approxima-
tion exactly satisfies the differential equation. Hence, in the limit, among all the functions we are considering,
we can both find a function that can duplicate the exact solution and find a function that satisfies the differ-
ential equation everywhere. Because there can be only one set of parameters for the function that satisfies the
differential equation everywhere, and the exact solution is a function that does the same, the approximating
function should approach the exact solution.

1.
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Least Squares. Here we seek to find the parametric values of our approximating function that minimize

L
L=f R%dx
0

Because our approximating function can be forced, in the limit, to approach any function, and because the
exact function minimizes L, we conclude that by forcing the parameters to minimize L, the approximation
must be forced to approach the exact solution.

Galerkin’s Method. This is perhaps the most obscure of the methods we studied. What it requires is that our
set of parametric values force the following equations to be satisfied:

L
J Pi(x)R(x)dx =0
0

L
f Py(x)R(x)dx = 0
0

L
J P, (x)R(x)dx =0
0

Here R(x) is the residual and P;(x) are the independent terms in the approximating function
y(x) = > AiPi(x)
i=1
Because each equation is equal to zero, we can multiply each by an arbitrary constant and then sum them; thus
L
J B Pi(x)R(x)dx = 0
0

L
j By Pr(x)R(x)dx = 0
0

L
J B,P,(x)R(x)dx =0
0

and

n L
B;P{(x)R(x)dx = 0
i=170

L

B

B;P;(x)R(x)dx =0

s

0 ;=1

L
J B(x)Rdx =0
0
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where
n
B(x) = > BiPi(x)
i=1

Because the parameters are arbitrary and because the series is complete, we can make B(x) approach any
function we desire, including R(x). This requires that, in the limit,

L
f R*dx — 0
0

Therefore, in the limit R — 0; thus, our approximating function must approach the exact solution.
The Ritz Method. This is similar to the least squares method in that we force a functional to have a minimum

value. In our case the functional was
L 2
1, . {dy
E = ~T|{=—=| +
JO {2 (dx) Wy]

Because our approximating function can be forced, in the limit, to approach any function, and because the exact
function minimizes E, then forcing the parameters to minimize E should likewise force the approximation to
approach the exact solution.

The preceding arguments do not constitute rigorous proofs for convergence, but they do point to how such
proofs are created and, therefore, provide insight as to how these methods work. Such insight will be helpful in
your understanding the material to follow as well as in your later use of the finite element method in whatever
capacity you choose.

EXERCISES

Study Problems

S1. Consider another application associated with the example problem, such as heat conduction, porous flow,
or electrostatics, and identify the physical significance of 7 and W in the governing equation.

S2. For each of the methods, use only one degree of freedom in the polynomial series, e.g.,

y(x) = (x)(x — L)Ag

and determine the “best” value for Aq that each method gives. Use the loading shown in Fig. 1.2.

S3. For each of the methods, use the approximating function
. fTx
y(x) = Apsin (T)

and determine the “best” value for A, that each method gives. Use the loading shown in Fig. 1.2.
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S4. For the loading shown in Fig. 1.2, determine the potential energy of the tight wire problem corresponding
to the exact solution. Give your answer in terms of W2L3/T.

S5. For the loading shown in Fig. 1.2, determine the potential energy that the two-parameter approximate
solutions give to the tight wire problem. Give your answer in terms of W2L3/T.

S6. Consider the loading on the wire constant over its entire length and derive the exact solution. Show that
rroach any . . . N .
all four methods give the exact solution with the approximating function
y(x) = (0)(x — L)Ag
S7. Fully explain why the finite element series is complete. What qualifying statement would you have to
) make concerning how the series is made?
' minimum
Numerical Experiments and Code Development
N1. For the tight wire problem with a constant uniform load equal to W, and T = 100WL, calculate the
potential energy as E/WL? using
‘e the exact A mx
simation to y(x) = Agsin (T)
' how such and plot it as a function of Ag/L. On the same plot, indicate the potential energy that the exact solution
> helpful in gIves.
1 whatever N2. For the tight wire problem with a constant uniform load equal to W, calculate
L
J = J R*dx
0
using
orous flow, e
= A 1 —_—
o = avin()
and plot J/W?L as a function of Ag/L. Let T = 100W L. What is the value of J that the exact solution
gives?
N3. For the tight wire problem with a constant load equal to W, use the approximating function
1.2
. N
. (nmx
y = Z Ay sin (T)
n=1
and write a computer program to calculate the values of A, by collocation for any N. Plot (yexact — Yapprox)
as a function of x/L forn = 1, 2, 3, and 4.
1.2.




CHAPTER

CALCULUS OF VARIATIONS

In this chapter we set forth some of the basic concepts of the calculus of variations that we will use in developing
the finite element method. In the previous chapter we defined the potential energy associated with the tight
wire in terms of its deflection y(x). The potential energy, therefore, is a scalar function of the function y(x)
and is referred to as a functional. If the deflection of the wire is changed a small amount, the potential energy
will likewise change. The relationship between a change in a function y(x) and the corresponding change in its
dependent functional is the subject matter of the calculus of variations. It has a marked similarity to differential
calculus, where one wishes to determine the relationship between a change in a scalar x and the differential of
the function y(x), i.e., dy = (dy/dx)dx.

2.1 THREE FUNDAMENTAL RELATIONSHIPS

We begin by defining the notation used for a change (or variation) in y as 8y = en(x). Here 7 is a function of
x, and € is a scalar that we use to control the magnitude of the variation. Thus,

y+08y = y+enx) 2.1
These functions can be visualized as shown in Fig. 2.1.
In the following, we let y(x) represent the (unknown) solution to a specific problem and en(x) an arbitrary
variation of this solution. Usually we will study only small variations of y(x), such that
€’ < e (2.2)

We will follow the practice that the symbol 8y means that the variation is small in the sense of Eq. 2.2.

YA

Figure 2.1. Variation of the wire deflection.

Now let us look at some important relationships. We first consider the derivative of y(x) and its variation
due to a variation of y(x). By definition, the variation of the derivative is

23
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dy _ d(y+8y) _dy

6dx dx dx @3)
which, when expanded, gives us
dy _dy d@y dy
Sa =t 5 T (2.4)
Therefore,
dy d

That is, the variation of the derivative is equal to the derivative of the variation. We will use the interchange-
ability of these operations a great deal in developing our finite element equations.
Next we consider the integral of y(x) and its variation due to a variation of y(x). By definition, we have

aH y(x)dx} = [ f [¥(x) + 8y(x)] dx] - [ f [¥(x)] dx] ‘ (2.6)

Upon expanding the second integral, we obtain

o [ as] = [ [ a] [ [svas] | [ e o

which is simply
SJydx = Jb‘ydx (2.8)

That is, the variation of the integral is equal to the integral of the variation. Thus, the operations of integration
and variation are interchangeable.

Now we consider a function F(y), where y = y(x), and pose the question, how does the function F change
when y(x) is changed from one function to another? That is, suppose the function

y(x) = Y(x) 2.9
is changed to the function
y(x) = Y(x) + en(x) (2.10)

Then the change in F(y(x)) would be

SF(y) = F[Y(x) + en(x)] — F[Y(x)] (2.11)

Fc
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(23)

(2.4)

2.5)

%’change—
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(2.6)

2.7

(2.8)

egration

*change

(2.9)

(2.10)

(2.11)
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The first term on the right-hand side can be expanded in a Taylor’s series about € = 0 to obtain

F(y) = F[Y(x) + en(x)]
2 (2.12)
=F| _,+ d—F‘ e+1d—€ €2 + 0(e?)
y de y=¥ 2 de y=v
For small e, we may neglect the higher-order terms in € and write
O0F = F(Y) + dZiY)e—F(Y) (2.13)
or simply
dF
OF = Jo€ (2.14)
The derivative can be written as
dFF dFdy dF
where we have used
y=Y+en 2.16)
Hence,
dF
—3 — . 7
6F ( dy )ne (2.17)

Because ne represents the small change of the argument y (see Eq. 2.1) of the function F(y), we can write

8F = (d—F)ay (2.18)
dy

We have thus obtained an expression for the infinitesimal variation of the function F(y) due to an infinitesimal
change in the function y(x), which is completely analogous to the expression for a differential that we have
from differential calculus.

2.2 APPLICATION TO THE TIGHT WIRE PROBLEM

We now apply the result of the previous section to our tight wire problem. In Chapter 1, two formulations were
given for the solution of this problem: the strong form, which stated that the deflection must satisfy
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2
9 4w = 00 (2.19)
dx

at every point, and the weak form, which stated that the deflection must give a stationary value to the functional

_ (M1, (avY
E(y) = J;) {§T<E) - wy]dx (2.20)

We now demonstrate the equivalence of these two formulations by showing
1. If y(x) satisfies Eq. 2.19, then when it is substituted into Eq. 2.20 and given a small variation 8 y(x), there
will be no variation of E(y), i.e., 6E = 0.
2. If y(x) gives a stationary value to E(y), i.e., 8E = 0 for any 8y, then y(x) satisfies Eq. 2.19.

We begin by taking the variation of E with respect to y.

_ Li1_ (dy z
OE(y) = 64[0 [ET(E) —wy]dx 2.21)

Interchanging the operations of variation and integration, we obtain

Ee [ fayY
OE(y) = L 6[5T<a) wy}dx 2.22)

Application of the standard formula of differential calculus gives us

I N ANT
8E(y) = J;) {T(ZZ})S (5)— wﬁy]dx (2.23)

We now interchange the operations of variation and differentiation to obtain

L dy\d
8E(y) = JO [T(d—;>a(5y)- wﬁy}dx (2.24)

To arrive at this point we used all three relationships developed in the previous section. From here on,
however, we need only to follow the rules of differential and integral calculus. We next integrate Eq. 2.24 by
parts; that is, we use

d(AB) _ dA,  dB
dx dx dx

A (2.25)

to

of
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(2.19)

1e functional

(2.20)

1 8y{x), there

),

(2.21)

(2.22)

(2.23)

(2.24)

ﬂrom here on,
'z Eq. 2.24 by

(2.25)
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to obtain
dy d d (dy d*y
——8y) = —|=08y|— —é .
dxdx( y) dx (dx y) dx? Y (2:26)
Thus,
Ly d (dy d’y
OF = L [Ta (58y>— ﬁﬁy —wéy|dx (2.27)
The first term can be integrated to give
= T-=8y| — —=86y+wé .
OF de y0 L [ 2 y+wéy|dx (2.28)

It is important to note two limitations that we must now place on the variation 8y. First, in order to perform
the integration indicated in the previous step, the integrand,

d [dy

must be integrable. Thus, 6y must be a continuous function: otherwise its derivative would not exist at pints
of discontinuity. Second, we must require that &y at the endpoints be zero; that is,

8y(0) = 8y(L) = 0.0 (2.29)

Otherwise the variation would create a function that did not satisfy the boundary conditions. Substitution of
these limits of integration makes the first term in Eq. 2.28 equal to zero, and we are left with

L d2y
OE = —J [T———z + w}Sy dx (2.30)
0 dx

Note that if Eq. 2.19 is satisfied, then 6E is equal to zero for any 8y. Therefore, Eq. 2.19 is a sufficient
condition to ensure that y(x) gives a stationary value to E. On the other hand, if 6E as given by Eq. 2.30 is
zero for any Oy (which satisfies the boundary conditions), then the term in braces must be identically zero.
Hence, if we find a function y(x) that gives a stationary value to E, then we have found the y(x) that satisfies
Eq. 2.19. An equation such as Eq. 2.19, when obtained in this manner, is referred to as the Euler equation of
the corresponding functional.

A Second Approach. Although the above procedure for obtaining the equation for y(x) that produces a sta-
tionary value of E is direct and easy to use, it is instructive, and often useful, to use the following approach.
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Consider the potential energy written in terms of y(x) (the function that gives it a stationary value) and its
variation €7,

L 1 d 2
E(yv+en) = Jo [ET [‘E(y + en)} —w(y + en)}dx (2.31)

Because E has a stationary value at e = 0, we know

oE

= = .32
e 0 (2.32)

€e=0

for any n(x). Expansion of Eq. 2.31 gives the following quadratic in €.

Ll (dyV
E(y+e€n) = UO [ET(d—i> - wy}dx}
M dydn
+ UO [TEZ; - wn]dx]e

; UOL [%T (%)Z}dx}ez (2.33)

The derivative of E with respect to € is
9E _ JL [Td—y dn _ wn |dx
de o | dxdx K

+ { LL [%T(i—;’)zldx]e (2.34)

If this is to be zero at € = 0, then

L dydn

You should now note the similarity between Eq. 2.35 and Eq. 2.24. These two equations impose identical
requirements since the integrals must be zero for either an arbitrary 8y or an arbitrary 7. We therefore arrive
at the same governing equation for y(x) as we had before.

This second approach, however, gives us one bit of information that the first approach does not. Consider
the expression for E(y + €n) as given by Eq. 2.33. The second integral on the right-hand side we now know
equals zero at the stationary value of E. Hence, E(y + €n) is the sum of the E in the equilibrium position (the
first integral) and an integral that is always positive. The stationary value of E is, therefore, a minimum value
for the potential energy of the system.

'Remember, n(0) = n(L) = 0, so that the variation of y produces a new function that still satisfies the specified boundary conditions.
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For the tight wire problem there existed a potential energy that produced a minimum value for the exact

solution. Thus, we knew that for the differential equation

2

d’y
Taﬁ' + W(x) = 0.0

there existed the corresponding functional

(Y fayY
E(y) = Jo [ET(a) —wy}dx

In the previous section we demonstrated that for a given functional, the corresponding differential equation

(the Euler equation) can easily be obtained. We now want to consider the following three questions:

1. Given a differential equation, is there always such a corresponding functional?

2. If there is a corresponding functional, can it be obtained from the differential equation?

3. If there is not a corresponding functional, can the finite element method be used to obtain approximate

solutions to the governing equation?

Unfortunately, the answer to the first question is no; fortunately, however, the answer to the second and third
questions is yes. To arrive at these answers we use the weak formulation as described in Chapter 1. Let us
again go through the steps necessary to place the tight wire problem in its weak form, but now use the notation
associated with the calculus of variations; that is, we will interpret the arbitrary weighting function as an

arbitrary variation in y.

Given the function y(x) that satisfies the above differential equation, 0 = x = L, we know

0

L 2
J Sy(Td—g + w(x))dx =0
dx

must be satisfied for any variation of the solution §y. Thus,

0 o Ldx dx dx

dx dx

L 2 L
J 6y<TZ—§ + w)dx = J [i (8yTQ)— @T‘—Q + wﬁy}dx
X

dx

L L
= [SyTQ] —J [@T%—wéy}dx

0 0

L
= —J [_d‘o‘de_y - WSy}dx
0

dx dx

(2.36)

(2.37)

(2.38)

(2.39)
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Ly ,

= —J S%T%—W(‘iy}dx (2.40)
0L
L[ A2

- _J 5 GT (%) )— 6(wy)1dx (2.41)
0
L A2

= _Jo 8[%T(3—i> - wy}dx (2.42)

L A2
= -8 L [%T(Cd%) - wy}dx (2.43)
= —-6FE=0 (2.44)

We have arrived at the corresponding variational principle of our problem, starting with the original differential
equation. Similar steps can be taken to determine the functional corresponding to other differential equations—
provided, of course, that a functional does exist.

Where, then, in the above steps was the crucial point that led to there being a functional? It occurred between
Eqs. 2.40 and 2.41, where we rewrote each term in the integrand as a total variation of a single function. This
allowed us to write the total integrand as a variation of a single function, and finally the entire expression as a
variation of an integral.

There are, however, differential equations for which corresponding functionals such as that above do not
exist. Such would be the case if, in our original linear differential equation, the first derivative of y had been
present. In that case, the integrand in Eq. 2.40 would have included the term

d y
(d—i)‘o‘y orsimply y' 8y

The fact that there is no function, say J(y, ¥), whose total variation equals the above is easily shown. The total
variation of J would be

8J = ﬂé‘y + l?—J,S_v' (2.45)
ay oy
But this would have to equal
8J = y' by (2.46)

Comparison of the two forms for 8J shows that the partial of J with respect to y' must be zero; hence, J can
not be a function of y'. This, however, contradicts Eq. 2.46; thus, J does not exist.
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In comparison, consider that if our original equation had contained the function itself, e.g.,

d’y
dx? Y

then y 8y would have appeared in the integrand. However, in this case, we could have written
y8y = 8 (1))

to have created the necessary total variation.

We have thus demonstrated that when there is a corresponding functional, it can be derived from the dif-
ferential equation; however, there may not always be a corresponding functional. Thus, we turn to our final
question: If there is not a corresponding functional, can we still obtain an approximate solution by the finite
element method? The answer, as stated above, is yes. We do not need a functional in order to use our finite
element approximations. In fact, when there is such a functional, the first thing we do is take its variation to
arrive at an equation similar to Eq. 2.40. It is this form into which we substitute our finite element approxi-
mations. Thus, the steps leading to Eqs. 2.41-2.44 are unnecessary for the development of our finite element
equations. In the remainder of this book we will follow steps similar to those leading to Eq. 2.40 to formulate
the governing equation used for the finite element approximation. It is this formulation that we will refer to as
the weak form of the problem.

One final comment (question): Why, if we do not need a functional in order to develop our finite element
equations, did we say it was unfortunate that the answer to our first question was no? There are two reasons.
The first reason is that even if the functional is not directly used in the development of our equations, the fact
that it exists gives us a better understanding of how our method converges to the solution (see comments at end
of Chapter 1). The second reason is that when a functional does exist, the resulting finite element equations are

described in terms of symmetric algebraic equations, whereas when a functional does not exist, the resulting |

equations are nonsymmetric.

EXERCISES

Study Problems
S1. Given

y = sin(x) and 8y = —0.5+ 0.2x°

(a) Compare

d d . d
2}()’ +0y) = E()’) with a(a}’)
(b) Compare

3 3

(y)dx with J (6y)dx
0

[3@ + 6y)dx — J

0 0

1
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S2. Given
F =2y
let
y(x) = Y(x) = 6sin(x)
Give a variation to Y(x) equal to
§Y(x) = —ex?
Determine by expanding all terms
OF = F(Y + 8Y) — F(Y)

Write §F after all terms containing €2 and higher have been neglected. Now calculate

dF
@ a y=Y
Compare
dF
OF = —&
dy Y

with your previous equation for 6 F.

Numerical Experiments and Code Development

NI1. Given
y=x
F(y) = ycos(y)
Sy =€n =€ [5.0 —(x— 1.5)2]

write a program to plot F(y + 8Y) — F(y) and (dF/dy)éy as functions of x in the range 0 = x < 7 for
€ = 1.0, 0.5, 0.1, and 0.01. Discuss your solutions in terms of the approximations given in the text.
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VARIATIONS Exercises

Answer:

Comparison for € = 1 Comparison for € = 0.5
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Comparison for e = 0.1 Comparison for € = 0.01
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